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CONTINUITY, DIFFERENTIABILITY AND DIFFERENTIATION

Exercise Singe Choice Problems

1. Let 'f' be a fifferentiable real valued function satisfying
flz + 2y) = f(z) + f(2y) + 6zy(x + 2y) Vz,y € R. Then
£(0), f(1), f'(2)..... arein

A. AP

B.GP

C.HP

D. None of these


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MAA47PERrOdC

Answer: A

° Watch Video Solution

2. Find the number of points of non-diferentiability for

f(z) = max {[|z| —1],1/2}.

A4
B.3
C.2

D.5

Answer: D

° Watch Video Solution

3. Number of points of discontinuity of f(z) = {%}‘1‘{%} in

z € [0,100] is/are (where [-] denotes greatest integer function and {:}


https://dl.doubtnut.com/l/_MAA47PERrOdC
https://dl.doubtnut.com/l/_FLNSPMWHQsBd
https://dl.doubtnut.com/l/_2ufAFOR11HPJ

denotes fractional part function)

A. 50

B. 51

C.52

D. 61

Answer: A

o Watch Video Solution

4.1f f(x) has isolated point of discontinuity at = a such that | f(z) is

continuous at £ = a then:

A. lim f(z) doesn not exist
T—a

B. lim f(x) + f(a) =0

C.f(a) =0

D. None of these


https://dl.doubtnut.com/l/_2ufAFOR11HPJ
https://dl.doubtnut.com/l/_S6eyt5SJ62yp

Answer: B

° Watch Video Solution

5 If f(z) is a thrice differentiable function such that

Lo fl4) = 31(32) + 37(20) — f(a)

z—0 z3

= 12 then the vlaue of f’’’(0)

equais to:

A.O0

B.1

C.12

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_S6eyt5SJ62yp
https://dl.doubtnut.com/l/_3XsS1GyUwxmb

1 1
(1 + tane)sme—cose + (COt 0)c0s0—cot0 (1 + tana)cos0—51n0 + (COt 0
dy s
then — at @ = — is

dz 3

A.O

B.1

C.v/3

D. None of these

Answer: A

° Watch Video Solution

d
7.Let f'(z) = sin(wz) and y = f(x2 + 1) then d_y atz = 1lis
T

A. 2sin 2

B.2cos 2

C.2sin4


https://dl.doubtnut.com/l/_D8lyFZd6tJ9v
https://dl.doubtnut.com/l/_0L4j1lrV1zaS

D. cos 2

Answer: C

° Watch Video Solution

8.If f(z) = |sinz — |cosz | |, then the value of f'(z) atx = %r is
3+1
LR
2
1
B. \/g
2
3—-1
C. \/_
2
~1-./3
2
Answer: C

o Watch Video Solution

d2

1
9.1f (sinx)(cosy) = 3 thend—:;/at(%, %) is —4(b) —2(c) —6(d) 0
x



https://dl.doubtnut.com/l/_0L4j1lrV1zaS
https://dl.doubtnut.com/l/_r1Bpsi3iCLBz
https://dl.doubtnut.com/l/_lOU6D8qmfU0x

D.O

Answer: A

o Watch Video Solution

10. f is a differentiable function such that z = f(t2),y = f(t3) and

d*y
ro 2o (%2) -
dz” /¢

1

>
INJSY

@

N
ol Wk ]

o

Answer: A


https://dl.doubtnut.com/l/_lOU6D8qmfU0x
https://dl.doubtnut.com/l/_OO95aQMLNtGE

° Watch Video Solution

ar +1 if <1
M. let f(z) = 3 if =1
bz +1 if 2 >1

then value of a — bis (A) 0(B) 1 (C) 2 (D) 4

A.O

B.1

C.2

D.4

Answer: A

if f(z) is continuous at z =1

o Watch Video Solution



https://dl.doubtnut.com/l/_OO95aQMLNtGE
https://dl.doubtnut.com/l/_rm2Q2xNcTeu0
https://dl.doubtnut.com/l/_Fd8UiSqIbYwu

find —
T

B

a2
Y l/z — «

1/z—p
B

i 1/9:—7)

a2< e
z\l/z — «

1/z—p
B

i 1/;—7>

c( 4
Y l/z — «

a/x

1z —p
Bz

i 1/1'7—7)

D. +
y(l/x—a

Answer: B

1/z—p

i 1/75'3/f 7)

o Watch Video Solution

1B.If f(z) =

A4
B.3
C.2

D.1

1+sin” "z

1—tan 12z

1

, then f (0) is equal to :



https://dl.doubtnut.com/l/_Fd8UiSqIbYwu
https://dl.doubtnut.com/l/_Y5VMRw78xoT3

Answer: D

° Watch Video Solution

sin? x, x is rational

2

) o ) , then set of points, where f
—sin“x, xisirrational

14.Let f(z) = {
(x) is continuous, is:
A {(277, + 1)% € I}
B.a null set
C.{nm,n € I}

D. set of all rational numbers

Answer: C

° Watch Video Solution

15. The number of values of z in (0,27) where the function

tanx + cot x tanx — cot x . .
flz) = 5 — 5 continuous but non-derivable :



https://dl.doubtnut.com/l/_Y5VMRw78xoT3
https://dl.doubtnut.com/l/_FFGEmR4N5vHZ
https://dl.doubtnut.com/l/_00nx3YbO1Y6i

A3

B.4

C.o

D.1

Answer: B

o Watch Video Solution

16.If f(z) = |z — 1] and g(x) = f(f(f(z))), then for z > 2, g’ (x) is
equal to

Alforz > 2

B.1for2 <z <3

C—1lfor2 <z <3

D.—1forz > 3

Answer: C



https://dl.doubtnut.com/l/_00nx3YbO1Y6i
https://dl.doubtnut.com/l/_5CNZpUhKouUh

| ° Watch Video Solution

17. If f(x) is continuous function Vz € R and the range of

f(z)is(2, v/26)andg(z) = [@} is continuous Vz € R, then find

the least positive integral value of ¢, where [.] denotes the greatest
integer function.

A3

B.5

C.6

D.7

Answer: C

o Watch Video Solution

d2
18.1f y = = + €%, then (—2) is :
dy z=In2


https://dl.doubtnut.com/l/_5CNZpUhKouUh
https://dl.doubtnut.com/l/_S3wyGWiIIolz
https://dl.doubtnut.com/l/_Kf7weJi696CM

Answer: B

o Watch Video Solution

19. Let f(z) = x> 4 42® + 6z and g(z) be inverse then the vlaue of
9'(—4):

A—2

B.2

c 1

2

D. None of these

Answer: C



https://dl.doubtnut.com/l/_Kf7weJi696CM
https://dl.doubtnut.com/l/_wbS0MlVrHyyv

| ° Watch Video Solution

20. If fle) =2+ |z| — |z —1] — |z + 1], then
f(%) + f(;) + f(;) is equal to:

A1l

B.—1

C.2

Answer: D

° Watch Video Solution

21. If f(z) = cos(z® —4[z]),0 <z < 1, (whre [] denotes greatest

),
T
integer function) then f’ (g) is equal to:

A ™
V2


https://dl.doubtnut.com/l/_wbS0MlVrHyyv
https://dl.doubtnut.com/l/_YoOLAZcRSbKf
https://dl.doubtnut.com/l/_nWJTMXulqg06

C.o0

N

Answer: A

° Watch Video Solution

22. Let g (x) be then inverse of f (x) such that f'(z) = then

1+ 25’
d*(g(z))

is equal to:

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_nWJTMXulqg06
https://dl.doubtnut.com/l/_prRrdh6xTNvO

min (m,m2) z>0

23.Let f(z) = {

, then which of the following
ax 2z, —1) =<0

is not true ?

A.f (x) is not differentiableat x = 0
B. f (x) is not differentiable are exactly two points
C.f (x) is continous everywhere

D. f (x) is strictly increasing Vx € R

Answer: B

o Watch Video Solution

24.if f(z) = hin (H cos( )) then f'(x) is equal to:

sinx
A.
T
T
B.

sinzx


https://dl.doubtnut.com/l/_prRrdh6xTNvO
https://dl.doubtnut.com/l/_mWO7qyZ9YSEe
https://dl.doubtnut.com/l/_QuWP0cxl8mHv

T cos —sinx

2

sinx — x cos T

sin’ z

Answer: C

° Watch Video Solution

1—tanx
dr—7 z 7&

25. Let f(z) = {)\
r =

S R E]

[0, %) then X is equal to:

Al

Answer: C

, T € [O, %), If f (x) is continuous in

° Watch Video Solution



https://dl.doubtnut.com/l/_QuWP0cxl8mHv
https://dl.doubtnut.com/l/_JdUhvk9bXSTs
https://dl.doubtnut.com/l/_v6IIRE7bN4fh

26. Let f(z) = {6_ sing 2 A0 o r(0) =
A x = %

A1
B.—1

C.0

D. Does not exist

Answer: C
o Watch Video Solution
27. Let f be a differentiable function

satisfying
f'(z) =2f(x) + 10Vz € R and f(0) =0, then the number of real

roots of the equation f(z) + 5secz = 01n (0, 27) is:
A.O

B.1



https://dl.doubtnut.com/l/_v6IIRE7bN4fh
https://dl.doubtnut.com/l/_ILeQllOkt7Fb

C.2

D.3

Answer: A

° Watch Video Solution

( sin { cosz } . 75

28.1If f(z) = z-3 , Where {k} represents the fractional

[N T

park of k, then:

T
A.f (x) is continous at z = 5

B. im f(x) does not exist

z— =
2

s
C. lim f(z) exists, but fis not continuous at x = )

rz— I
2

D. lim f(z) =1

z—
2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ILeQllOkt7Fb
https://dl.doubtnut.com/l/_JzhCnOC5t42q

29. Let f(xz) be a polynomial in x . Then the second derivative of
fe)wiis "+ f(e7)  fUET 4 f1(eNET fTeR (d)
FEET + f(en)e"

A.f, r(ew)em +f(e$)

B.f"(e")e* + f'(e")e™

C.f7(e")e” + f'(e")e™

D.f"" ()€ + e f'(”)

Answer: D

o Watch Video Solution

30.If ef(z) = logz and g(x) is the inverse function of f(x), then g’ (z) is


https://dl.doubtnut.com/l/_EHhETtoeZ6UE
https://dl.doubtnut.com/l/_vj1Mav6zHy3M

T

Answer: C

° Watch Video Solution

31.Ify = f(z) is differentiable Vz € R, then

A.y = | f(z)| is differentiable Yz € R
B.y = f%(z) is not-differentiable for atleast one x
C.y = f(«)|f(z)| is non-differentiable for atleast one x

D.y = |f(z)|® is differentiable Az € R

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_vj1Mav6zHy3M
https://dl.doubtnut.com/l/_kHEx2JCnzZ8E

32. If f(z)=(z—1)"=z—-2)>%x—23)? then the value of

FFO)+7@)+7@3)is:

A.O0
B.1
C.2

D.6

Answer: A

o Watch Video Solution

33.Indicate all correct alternatives if, f(z) = 5 1, then on the interval

[0, 7]

A tan(f(z)) and are both continous

(2)

B.tan(f(x)) and

are both discontinous
f(z)

C.tna(f(x)) and f~'(z) are both continous


https://dl.doubtnut.com/l/_6PRVTlVXsmv1
https://dl.doubtnut.com/l/_9iY2VPlfjJQq

D. tan f(z) is continous but f ~(z) is not

Answer: C

° Watch Video Solution

34, Let f (x)=

L +1 {—=z}

3z—2

1
[ (&=-3) bsi

o2 sin{ — x
ie—,m>2 ,<#,x<2),(c,a::2), whre {}
denotes fraction part function, is continous at z = 2, then b + ¢ =

A.O0
B.1
C.2

D.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9iY2VPlfjJQq
https://dl.doubtnut.com/l/_xJ3WmeyIGylh

et — e® 4 In(secx + tanz) — = _
be a continuous

35. Let f(z) = P ——

function at x=0. The value f(0) equals

O w W |-

O
O

Answer: C

o Watch Video Solution

(1+az)'’* 2<0
36. Let f(z) = (z1e)/3—1 , is continous at = = 0, then
o)1 x>0

3(e* + b+ ¢) is equal to:

A3

B.6


https://dl.doubtnut.com/l/_rva2tGpkFVu8
https://dl.doubtnut.com/l/_qOMUw3QnFbvO

C.7

D.8

Answer: C

o Watch Video Solution

d2
37./zr +y+y—z =g thend—g equals
x

S~ e s ol

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qOMUw3QnFbvO
https://dl.doubtnut.com/l/_U5ejZkST1Ayl

38.1f f(z) = z® + z* + logz and gis the inverse of f, then g’ (2) is:

A 8

Answer: B

o Watch Video Solution

39. The number of points at which the function,

min {|z|,z?}
f(z) = i if £ €(—o00,1) otherwise is not
min (2:10 — 1,:82}

differentiable is:

A.O

B.1


https://dl.doubtnut.com/l/_0UAmKbhinJCV
https://dl.doubtnut.com/l/_JqjuUMbitM7l

C.2

D.3

Answer: B

o Watch Video Solution

40. If f(z) is

f(x) + f'(z) = 0 and g(z) = (f(z))* + (f'(z))* and g(3) = 8,

rhen g(8) =

A.O
B.3
C.5

D.8

Answer: D

a

function

such

that

° Watch Video Solution



https://dl.doubtnut.com/l/_JqjuUMbitM7l
https://dl.doubtnut.com/l/_oGrxdDw6rRrf

41. Let f s twice differerntiable on R such that

f(0) =1,f(0) =0 and f''(0) = —1, then for
a € R, lim <f<i>> _
T — 00 \/E
Ae ¢
a2
B.et
a2
Cez2
D. e 2¢’
Answer: C

o Watch Video Solution

42.Let fi(z) = €® and f, . 1(z) = ef"(’”)) foranyn > 1,n € N. Then

for any fixed n, the vlaue of dif> (n)(x) equals:
T

A. fu(z)


https://dl.doubtnut.com/l/_oGrxdDw6rRrf
https://dl.doubtnut.com/l/_xGmH1XFfnSvq
https://dl.doubtnut.com/l/_zgPxdjr9AVwB

B. fu(z) fn_1(x)..... fo(z) fo(x)
C. fn(x)fn—l(w)

D. fa(Z) fa-1(z).- ... fo(z) fi(z)e”

Answer: B

° Watch Video Solution

1/3 _ ,1/3 d
43.If y = tan 1 z a4 ,z > 0,a >0, then—y is:
14+ 21/3g1/3 dr
1
A.
$2/3(1+(E2/3)
3
B.
$2/3(1+$2/3)
1
‘3x2/3(1—|—x2/3)

1
D.
3331/3(1 + :c2/3)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zgPxdjr9AVwB
https://dl.doubtnut.com/l/_POXbfkl8nMtP

sin (4k—1)z

= , <0
44, The value of k + f(0) so that f(z) = tan(45+1)w, 0<z < %
1, =0

can bemade continous at x = O is:

Al

Answer: B

° Watch Video Solution

45.1f y = sin ! - 2] <1, then (L)
Ufy = sin ——— |, |z| < 1,then —at| = ) is:
Y 1+ +/1—2? dz 2

A.

L
V3

B.3


https://dl.doubtnut.com/l/_GR5jif6igqqt
https://dl.doubtnut.com/l/_OeEZniwImrID

N

o

Sle oS

Answer: A

o Watch Video Solution

e“zcosz —zlog, (1+z) —x

> ,x #0. If f(z) is

continuous at x = 0, then f(0) is equal to

46. Let f(z) =
T

A.O

B.1

D.2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_OeEZniwImrID
https://dl.doubtnut.com/l/_gHmfsIHJj91C
https://dl.doubtnut.com/l/_jJ1qha34buZS

47. A function f(z) = max (sinz, cosz, 1 — cosx) is non-derivable for

n values of z € [0, 27]. Then the vaue of n is:

A.2
B.1
C.3

D.4

Answer: C

o Watch Video Solution

48. Let g be the inverse function of a differentiable function f and

G(z) = L If f(4) = 2and f’(4) = i, then the value of (G’(2))?
9(z) 16

equals to:

Al

B.4


https://dl.doubtnut.com/l/_jJ1qha34buZS
https://dl.doubtnut.com/l/_0Yrh7t7ty2HT

D. 64

Answer: A

° Watch Video Solution

1
49.If f(z) = max . <w4 x ﬁ) Vz € [0, 00), then the sum of square

of reciprocal of all the values of x where f (x) is non-differentiable, is equal
to:

A1l

B. 81

C. 82

82
81

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_0Yrh7t7ty2HT
https://dl.doubtnut.com/l/_uGx1M7k9DSqF

50.1f f(x) is derivable at z = 2 such that f(2) = 2 and f’(2) = 4, then
1
2

the value of lim 7 (ln f(2 + h2) —In f(2 — hz)) is equal to

h—0

Al
B.2
C.3

D.4

Answer: D

o Watch Video Solution

51. Let f(z) = (¢® — 3z + 2)|(2® — 62 + 11z — 6)| +

n(r 3)
sin{ x Z
Number of points at which the function f(z) is non-differentiable in

[0, 27], is

A5


https://dl.doubtnut.com/l/_uGx1M7k9DSqF
https://dl.doubtnut.com/l/_WGHnSIxu9DHW
https://dl.doubtnut.com/l/_YpIdDSPYoYWK

B.4

C.3

D.2

Answer: C

o Watch Video Solution

52. Let f and g be differrntiable functions on R (the set of all real
numbers) such that
9(1) =2=g¢'(1) and f'(0) = 4. Ifh(z) = f(2zg(x) + cosma — 3)
then h’(1) is equal to:

A. 28

B. 24

C.32

D. 18


https://dl.doubtnut.com/l/_YpIdDSPYoYWK
https://dl.doubtnut.com/l/_YkT1EC1f0BWO

Answer: C

° Watch Video Solution

+1)"V1+a?
53.If f(z) = ( ) - then the value of f’(0) is equal to:
(22 —z + 1)
A.10
B. 11
C.13
D.15
Answer: C

° Watch Video Solution

log (14 z) — z*sin(2z
54. Statement. : The function f(z) = lim 8 1)+ > (22)
x— 00 X

is discontinuous atz = 1

Statement.2: L. H. L. = R. H. L. # f(1).


https://dl.doubtnut.com/l/_YkT1EC1f0BWO
https://dl.doubtnut.com/l/_7fm4XG4ri39v
https://dl.doubtnut.com/l/_FNfcxILiwpEu

A. Statent:1 is ture , Statement:2 is true and Statement:2 is correct

explanation for Statement-1

B. Statement-1 is true, Statement-2 is true and Statement-2 is not the

correct explanation for Statemetn-1

C. Statement-1 is true, Statement-2 is false

D. Statement-1 is false, Statement-2 is true

Answer: C

° Watch Video Solution

x if x is rational )
, then number of points

55. If f(z) = {

J if x is irrational

forz € R, wherey = f(f(x)) discontinous is:

A.0
B.1

C.2


https://dl.doubtnut.com/l/_FNfcxILiwpEu
https://dl.doubtnut.com/l/_1fOcfSxKCsHY

D. Infinitely many

Answer: A

° Watch Video Solution

56. Number of points
max 22—z — 2,22 - 32 x>0

oy = { = b=t
max (In( — z),e”) z <0

differentiable will be:

A1l

B.2

C.3

D. None of these

Answer: C

where

non-

° Watch Video Solution



https://dl.doubtnut.com/l/_1fOcfSxKCsHY
https://dl.doubtnut.com/l/_CioEasB26NHw
https://dl.doubtnut.com/l/_HvbSMgIfqlFo

57. If the function
x2 x3

f(z) = —4e%+1+1‘+7+? and g(z) = f !(z), then the

vlue of g’ (%) equals to:

Answer: A

o Watch Video Solution

58.Find k, if possible, so that
In(2—cos2z)
In (1+sin3z)

flz) = | k x = 0 is continious at z = 0.

esin 2r 1

In(1+tan9z)

z <0

z >0


https://dl.doubtnut.com/l/_HvbSMgIfqlFo
https://dl.doubtnut.com/l/_5PsdSjWV4jxA

@

n
Ol O

D. not possible

Answer: C

° Watch Video Solution

59. A function is reprersented parametrically by the equations

T = 1:?: t;y = % + %Thenthe'valueof % — $<Z—z>3 is______
A.2
B.O
C.—1
D.—2
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5PsdSjWV4jxA
https://dl.doubtnut.com/l/_qouG7JSa940y

60.1fy 2 =1+ 24/2cos 2z, then:

4y _ y(py® + 1) (gy*> — 1) then the vlaue of (p + q) equals to:
A7

B.8

C.9

D.10

Answer: D

o Watch Video Solution

61.1fy 2 =1+ 2¢/2cos 2z, then:
d%y

—3 = y(py® + 1) (gy* — 1) then the vlaue of (p + g) equals to:

A7

B.8


https://dl.doubtnut.com/l/_qouG7JSa940y
https://dl.doubtnut.com/l/_pGW5sRpYfss1
https://dl.doubtnut.com/l/_rIRrYI1JoHJj

C.9

D.15

Answer: B

° Watch Video Solution

62. Let f: R — R is not identically zero, differentiable function and
satisfy the equals f(zy) = f(z)f(y) and f(z + 2) = f(z) + £(2),
then f(5) =

A3

B.5

C.10

D.15

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_rIRrYI1JoHJj
https://dl.doubtnut.com/l/_YluMTUFTgQud

n d? d
63.Ify=<m+ 1—|—x2> then (1+w2)—g+x—y
dr dx

Answer: A

° Watch Video Solution

64.Let g(z) = f(ac —/1- a:2) and f'(z) = 1 — 2 then g’ (z) equal

to:


https://dl.doubtnut.com/l/_YluMTUFTgQud
https://dl.doubtnut.com/l/_HWGN1pMLXZFM
https://dl.doubtnut.com/l/_SS1TvnwtAqaq

D. 233(w — m)

Answer: C

° Watch Video Solution

log(2 + z) — z®sinz
65.Let f(z) = lim & 1l o .then
n— o0 €

A.f(x)is continuousatx = 1

B. lim f(z) =log, 3

rz—1

C. lim f(z) = —sinl

z—1"

D. lim f(z) does not exist
z—1"

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SS1TvnwtAqaq
https://dl.doubtnut.com/l/_IyI5dlZEbroK

66. If f(z+y) =f(z)xflyy for al =z,ye€R and

f(5) =2, f'(0) = 3, thenf’(5) =

A3

B.1

D.6

Answer: C

° Watch Video Solution

.then

log(2 + z) — z?"sinz
67.1ct f(z) = Tim & 1 i -
n— o0 €T

A. f(x) continuousatxz =1

B. lim f(z) =log, 3

r—1"

C. lim f(z) = —sinl

z—1"



https://dl.doubtnut.com/l/_azNlt7jEqJPo
https://dl.doubtnut.com/l/_McbwTk3oC6Jv

D. lim f(z) does not exist
z—1"

Answer: C

° Watch Video Solution

z—e“+1—(1—cos2z)
68.If f(z) = { x’

is continous at £ = 0 then
k z=0

which of the following statement is false ?

B. {k} — %

ClH= -2

D. K] {k} = —
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_McbwTk3oC6Jv
https://dl.doubtnut.com/l/_QRoFjmRTWkpW

, then the exhausive set of values

69. Let f(z) = ||2? — 10z + 21| — p
of for which f (x) has exactly 6 points of non-derivability, is:
A. (4, 00)
B. (0, 4)
C. [0, 4]

D.(— 4, 4)

Answer: B

o Watch Video Solution

1+sin!
70.1f f(z) = M, then f (0) is equal to :
1—tan 'z

A 4

B.3

C.2



https://dl.doubtnut.com/l/_0eN66ta2CyME
https://dl.doubtnut.com/l/_4GNnD8lVQPWQ

D.1

Answer: D

° Watch Video Solution

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4GNnD8lVQPWQ
https://dl.doubtnut.com/l/_ieib9iLdZ0n4

72. Let f(z) = — 14 |z — 2| and g(x) =1 — || then set of all

possible value (s) of for which (fog) (x) is discontinuous is:

A {0,1, 2}

B. {0, 2}

c. {0}

D. an empty set

Answer: D

o Watch Video Solution

73.1f f(z) = [z|tan(7x) then f'(k’) is equal to (k € and [. ] denotes
greatest integer function):

A (k—1)r(—1)"

B. km

C.kr( — 1)t


https://dl.doubtnut.com/l/_kN6uuehmlD4e
https://dl.doubtnut.com/l/_Tj0qF2pVazVa

D. (k — 1)w( —1)**

Answer: B

° Watch Video Solution

aeshT | pe —snz _ o . 7&0
74.1f f(z) = z? is continous at z = 0, then:
2 =0
Aa=b=c
B.a = 2b = 3c
Ca=b=2
D.2a = 2b=c¢

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Tj0qF2pVazVa
https://dl.doubtnut.com/l/_AQJQA41DKgdC

75. If tan x cot y=seca and
T T d*y T T
a € (— o5 E)thenwa:‘(Z, Z) equal to:
A.0
B.1
C.2
D.3
Answer: A
o Watch Video Solution
76. If y=(z—3)(z—2)(z—1) x(z+1)(z+2)(z+3), then

d2
—Zat:c = 1is:

dzx

A —101
B. 48

C.56


https://dl.doubtnut.com/l/_VZFe6z4Dco20
https://dl.doubtnut.com/l/_ZKquhL6PLYxP

D. 190

Answer: C

° Watch Video Solution

77.Let f(xz +y) = f(z)f(y)Vz,y € R, f(0) # 0If f(z) is continous at
z = 0, then f(z) is continuous at :

A. all natural numbers only

B. all integers only

C. all rational numbers only

D. all real numbers

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ZKquhL6PLYxP
https://dl.doubtnut.com/l/_nJqCyWOlkp8Z

78.
f(z) =32° —22* +22° — 32> + 2 +cos + 5 and g(z) = £ (z),

then the value of g’ (6) equals:

Al

C.2

D.3

Answer: A

° Watch Video Solution

d2
79.f y = f(z) and z = g(z) then d_g equals
T
dl 77 . 7 77
NEaST
(")
g 91 —fg
(9")
fg” ’f”



https://dl.doubtnut.com/l/_0eY1tGBcf1lz
https://dl.doubtnut.com/l/_fLU0wjRSW2YH

D. None of these

Answer: B

° Watch Video Solution

x+1 z <0 z+1

O P R

the number of points where g(f(x)) is not differentiable.

A.O

B.1

C.2

D. None of these

Answer: C

z <0
z>0

Let

then

° Watch Video Solution



https://dl.doubtnut.com/l/_fLU0wjRSW2YH
https://dl.doubtnut.com/l/_Ka1nyQOLZa1B
https://dl.doubtnut.com/l/_HHdKlOZYHw78

81. 5.f(x)=[sinx]+[cos] ,xe[0, 27|, where[] denotes the greatest integer
function. Total number of point where f (x) is non-differentiable is equal
to (A)2(B)3(C)5(D) 4

A 2

B.3

C.4

D.5

Answer: D

o Watch Video Solution

min {f(¢):0 <t <z}, z € [0,7]

82. Let f(x) = cosw,g(a:) = { (SiIl.’,U) -1 Tr > T

Then

A. g (x) is discontinuous at z = 7

B. g(z) is continous for z € [0, c0)


https://dl.doubtnut.com/l/_HHdKlOZYHw78
https://dl.doubtnut.com/l/_D7jCVTyORJ0O

C. g(z) is differentiable at z = 7

D. g(z) is differentiable for z € [0, 00)

Answer: B

° Watch Video Solution

8. If f(z) = (44 )", neN and f"(0) represents the r™ derivative of
= (£7(0))

r!

f(z) at z = 0, then the value of is equal to

r=0
A 2"
B.3"
c.5"

D. 4"

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_D7jCVTyORJ0O
https://dl.doubtnut.com/l/_GpPg5CXF4oQV
https://dl.doubtnut.com/l/_zJxILW5SGzNo

84. Let f(z) = { 1+ lal”

1—|z|’

2 <1 then domain of f'(x) is:
z

A (— 00, )

B.(—o00,0) —{—1,0,1}

C(—o0,00)—{—-1,1}

D.( — oo, 0) — {0}

Answer: C

o Watch Video Solution

85. If the function

2 .’133

f(@) = —4eT +1+a+ -+ and g(a) = f '(z), then the

=T
value of g (T) equals :


https://dl.doubtnut.com/l/_zJxILW5SGzNo
https://dl.doubtnut.com/l/_SNYJwmIn2EGs

b 6
B
Answer: A

° Watch Video Solution

86. The number of geinis at which the function
f(z) = (x — |2|)2(1 — = + |z])2 is not disiferenitairies in the intensail
(-3,4) is

A.”Zero

B. One

C. Two

D. Three

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SNYJwmIn2EGs
https://dl.doubtnut.com/l/_PhOKEcDkjnUf

1+ sin™*
87.If f(x) = Lla:, then f'(0) is equal to:
l1—-tan "z

A4
B.3
C.2

D.1

Answer: D

o Watch Video Solution

88. If
flz)=[(er71,,0<2<1),(z+1—{z},,1 <z <3) and g(z) = =
such that f(x)g(z) is continous [0, 3] then the ordered pair (a)b) is

(where {} denotes fractional part function):

A.(2,3)


https://dl.doubtnut.com/l/_PhOKEcDkjnUf
https://dl.doubtnut.com/l/_Z7QstCO7Loes
https://dl.doubtnut.com/l/_E4ZSdcMc05gP

D.(2,2)

Answer: C

o Watch Video Solution

89. Use the following table and the fact that f(x) is invertible and

differentiable everywhere to find (f ~*(3)) ':

z f(z) f'(z)
31 7
6 2 10
93 5
A.O
B. —
!
"10
1
D. =


https://dl.doubtnut.com/l/_E4ZSdcMc05gP
https://dl.doubtnut.com/l/_hgxaHgllOV1u

Answer: B

° Watch Video Solution

x"(sin%,) x#0
0, x=0

Such that f (x) is continuous at

90. Let f(z) = {

z = 0, f'(0) is real and finlte,and lim f’(z) does not exist. The holds

z—0"

true for which of the following values of n ?

A .0
B.1
C.2

D.3

Answer: C

° Watch Video Solution

Exercise One Or More Than One Answer Is Are Correct


https://dl.doubtnut.com/l/_hgxaHgllOV1u
https://dl.doubtnut.com/l/_ny2HLvhxtYJs

1 If f(:c):ta,n_l(sgn(n2—)\a:—|—1)) has exactly one point of

discontinuity, then the value of A can be:

Al

Answer: C::D

o Watch Video Solution

2(z + 1) z< —1
2. f(x) =< vV1— 22 —1<z < 1,then:
I|[z| — 1] — 1 z>1

A.f (x) is non-differentialbe at exactly three points
B. f (x) is continous in ( — oo, 1]

C. f(z) is differentiable in ( — oo, — 1)


https://dl.doubtnut.com/l/_c9hfeLK5BcfP
https://dl.doubtnut.com/l/_SPqVRjO72fXX

D.f (x) is finite type of discontinuity at x = 1, but continous at

z= —1

Answer: A::C::D

° Watch Video Solution

:c(3el/’”+4) 0 1
3. Let f(z) = 2—el/® (z # )m =+ 2 which of the
0 z =0 n

following statement (s) is/are correct ?

A.f (x) is continous atx = 0
B. f(z) is non-dervable at x = 0
cf ()= -3

D. f’(O_) does not exist

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_SPqVRjO72fXX
https://dl.doubtnut.com/l/_fHudWbPs5OIn

4.let |f(z)| < sin’z, Vz € R, then

A.f (x) is continousatz = 0
B. f (x) is differentiable at x = 0

C. f(z) is continous but not differentiable at z = 0

D. f(0) =0

Answer: A::B::D

o Watch Video Solution

a(l—zsinz) +bcosz+5
= x <0

(=) w0

If fis continous at £ = 0 then correct statement (s) is/are:

5.Let f(z) =

Aa+c= —1

Bb+x= —4

Ca+b= —5


https://dl.doubtnut.com/l/_OsmKH2u5x0p4
https://dl.doubtnut.com/l/_BANkQTvoqKPX

D.c + d = an irrational number

Answer: A::B::C::D

° Watch Video Solution

6.1f f(x) = |||z| — 2| + p| have more than 3 points non-derivability then

the value of p can be:

A.O

D. 2

Answer: B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_BANkQTvoqKPX
https://dl.doubtnut.com/l/_KLxAN5eOyjB7

7.1dentify the options having correct statement:

A f(z) = *y/x*|z| — 1|z| is nowhere non-differentiable
B. lim (z + 5)tan '(z + 1)) — ((z +Dtan" Y(z + 1)) =27

T — 00

C f(z) = sin(ln(m + vz + 1)) is an odd function

D f(z) = ==

= is discontinous at exactly one point
dr —

Answer: A::B::C

o Watch Video Solution

8. A twice differentiable function f(x)is defined for all real numbers and
satisfies the following conditions f(0) = 2; f’(0) — — 5 and f(0) = 3.
The function g(z) is defined by g(z) = e + f(z)Vz € R, where 'a is

any constant If g’ (0) + g(0) = 0. Find the value(s) of '@

Al


https://dl.doubtnut.com/l/_T1ZOGOvjjlfO
https://dl.doubtnut.com/l/_dbFKCEXuJFND

C.2

Answer: A::D

° Watch Video Solution

9.If f(z) = |sinz|, then

A. differentiable everwhere
B. not differentiable at x = nmn, € I
C. not diffentiableat z = 0

D. continousatxz = 0

Answer: A::D

° Watch Video Solution



https://dl.doubtnut.com/l/_dbFKCEXuJFND
https://dl.doubtnut.com/l/_f9TQWPYah1ul

10. Let [. | represent the greatest integer function and f(z) = [tan’z]

then :

A. lim f(z) does not exist
z—0
B.f (x) is continuous atx = 0

C.f (x) is not differentiableat z = 0

D.f'(0) =0

Answer: B::D

o Watch Video Solution

1. Let f be a differentiable

f'(x) =f'(—x)Vz € R. Then

A If f(1) = f(2), then f( — 1) = f( - 2)

function satisfying

B. %f(x) + %f(y) = f(%(a: + y))) for all ral values of x,y

C.Let f(z) be an even function, then f(z) = 0Vz € R


https://dl.doubtnut.com/l/_DXyYytJ7RTNo
https://dl.doubtnut.com/l/_BnQB8UD7kVH2

D. f(z) + f( —z) = 2f(o)Vz € R

Answer: A::D

° Watch Video Solution

12. Let f: R — R be a function, such that |f(z)| < z*",n € NVn € R
then f(z) is:

A.discontinousatz = 0

B. continousatxz = 0

C. non-differentiableat z = 0

D. differentiableat x = 0

Answer: B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_BnQB8UD7kVH2
https://dl.doubtnut.com/l/_rdbe84Cdi09S

13. Let f(z) = [z] and g(z) = 0 when x is an integer and g(z) = z”

when x is not an integer ([] is ghe greatest integer function) then:
A. li.m1 g(z) exists, but g (x) is not continous at z = 1
x—
B. lim f(z) does not exist
z—1

C. gog is continous for all x

D. fog is continous for all x

Answer: A::B

o Watch Video Solution

14.Let f: R — R is given by

then:

2
f(w):{p+qx—}—:c T <2

2px + 3qz x> 2

A.f (x) is continous in R if 3p + 10g = 4
. . . . . 4

B. f (x) is differentiableinRifp = g = I

Cifp= — 2,9 =1, then f(x) is continuos in R


https://dl.doubtnut.com/l/_tWiSzrJ04MsR
https://dl.doubtnut.com/l/_DDWqNqFJmdKA

D. f (x) is differentiable inRif 1p + 11q = 4

Answer: A::B::C

° Watch Video Solution

15.Let f(x) = |22 — 9| + |2z + 9|. Which of the following are true ?

9
A. f (x) is not differerntiable at x = 2
B. f (x) is not differentiable at x = _T

C.f (x) is differentiableat x = 0

-9 9
D. f (x) is differentiable at x = 5 0, Bl

Answer: A::B::C

o Watch Video Solution

16.Let f(z) = max (z,2°z%) € —2 <z < 2. Then:


https://dl.doubtnut.com/l/_DDWqNqFJmdKA
https://dl.doubtnut.com/l/_S3YjtfX30KVK
https://dl.doubtnut.com/l/_Y1kLZrX6mYIX

A.f(x)is continous in —2 <z <2

B. f(x) is not differentiable at x = 1

c.f<—1)+f(§> -2

0. (- 11" (5) =

2 4

Answer: A::B::C

o Watch Video Solution

17. Let f(x) be a differentiable function satisfying f(y)f(

xy € R,y # 0and f(1) # 0, f'(1) = 3then

A.sgn (f(x)) is non-differentiable at exactly one point

~ x%(cosz — 1)
B. lim =0

20 J@)

C. f(z) = z has 3 solutions

D. f(f(x)) — f*(x) = 0 has infinitely many solutions

Answer: A::B::C::D



https://dl.doubtnut.com/l/_Y1kLZrX6mYIX
https://dl.doubtnut.com/l/_H5GrhQi9UyDe

° Watch Video Solution

18.Let f(z) = (2 — 3z + 2)(2® + 3z + 2) and «, B, v satisfy a < By
are the roots of f'(z) = 0 then which of the following is/are correct ([]

denots greatest integer function) ?

Ala) = —2
B.[8] = — 1
C.[g=0
D.[a] =1
Answer: A::C

o Watch Video Solution

19.Let f: R — R s given by

f(m):{p-l-qa:—i-av2 T <2

then:
2px + 3qz x> 2


https://dl.doubtnut.com/l/_H5GrhQi9UyDe
https://dl.doubtnut.com/l/_Ko3uWiEhD9Pp
https://dl.doubtnut.com/l/_aTbNG0tccvgF

A.f (x) is continous in R if 3p + 10q = 4

4
B. f() is differentiable inRis p = ¢ = 5
Cifp= — 2,9 =1, then f(x) is continous in R

D.f (x) is differentiable in Ris 2p 4+ 11q = 4

Answer: A::B::C

o Watch Video Solution

. d
20.1fy = e*5 (#") 4 (tanz)” then d—y may be equal to:
T

oosin () [3$3 cos(a?3) + sin(a:?’)} + (tanz)”[Intanz + 2z cos ec2z]

oo sin (2°) [2° cos(z?) + sin(2?)] + (tanz)”[Intanz + 2z cos ec2z]

C. exsin(m3) [x?) sin(w?’) + sin(acg')} + (ta,nx)f”[lntana: + 2cos 602-’17]

M sec2

zsin (z°) 3 3 : 3 z
D.e [3z° cos(z”) + sin(z”)] + (tanz)”|Intanz + -

an T


https://dl.doubtnut.com/l/_aTbNG0tccvgF
https://dl.doubtnut.com/l/_cEOCoRJtwS7X

Answer: A::D

° Watch Video Solution

¢ f(z) = (1= f(x)) (f[ = ;r)>

r=1

0. (2) = f(az)(<f[ = ;))

Answer: B::C

.........

° Watch Video Solution



https://dl.doubtnut.com/l/_cEOCoRJtwS7X
https://dl.doubtnut.com/l/_WQxSPfZhJWih

224+a 0<z<1 3z+b 0<z<1

and g(z) =

22. Let =
fz) 2 +b 1<z <2 z3 1<z<2

If derivative of f(z) wrt. g(z)atxz = 1 exists and is equal to A, then

which of the followig is/are correct?

Aat+b= —3

Answer: A::B::C::D

° Watch Video Solution

sin[m2]ﬂ'
23.If f(x) = | 2>-32+8
2cosmr +tan" 'z l<z<?2

3 <z<
tar®+b  0<2 <1 .0 yterentiable in

[0, 2] then: ([.] denotes greatest integer function)


https://dl.doubtnut.com/l/_R92QN623Z08o
https://dl.doubtnut.com/l/_WoQpE5N0cMLj

B g — 1
.a = 5
T 13
C-b—z_?
Y 7
D.b=— — —
b 4 3
Answer: B::C

° Watch Video Solution

24 If 14z 0<z<2
MA@ =03, 9 2cn<y
at:

Ax=1

B.x =2

c _5

T

D.z =3
Answer: A::B

then f(f(x)) is not differentiable

° Watch Video Solution



https://dl.doubtnut.com/l/_WoQpE5N0cMLj
https://dl.doubtnut.com/l/_wBAoP6Nr5v4e

25. Let
flz) =(z+ 1)(z +2)(z + 3)..... (x +100) and g(z) = f(z)f '(x) — j
Let n be the numbers of rreal roots of g(z) = 0, then:

An <2

B.n>2

C.n < 100

D.n > 100

Answer: A::C

o Watch Video Solution

x| — 3 r <1
e —2|+a z>1

26. Let f(z) = {

(z) 2olel w00 s disconti t exactl
g\r) = Sgn(a‘;) B b . Z 1 X)=T{X) IS Iscontinuous at exactly

one point, then which of the following are correct?


https://dl.doubtnut.com/l/_wBAoP6Nr5v4e
https://dl.doubtnut.com/l/_tuBdlKk2Qsys
https://dl.doubtnut.com/l/_Qlh3wGwqXnYB

Ba= —3,b= —1
Ca=2b=1
D.a=0,b=1

Answer: A::B::C::D

o Watch Video Solution

27. Let f (x) be a continous function in [ — 1, 1] such that

In (ax2+bm +c)

o —-1<z<0
flz) = |1 r=0 Then which of the following
sin(e‘”2—1>
" 0<z <1

is/are corrent

Aa+b+c=0

B.b=a+c

Cc=1+%b


https://dl.doubtnut.com/l/_Qlh3wGwqXnYB
https://dl.doubtnut.com/l/_4dmoBpzMY3qC

DB+ =1

Answer: C::D

° Watch Video Solution

28. f (x) is differentiable function satisfying the relationship
F2(z) + f2y) + 2y — 1) = f(z +y) Ve, y € R
Also f(z) > 0Vz € R and f(\/ﬁ) = 2. Then which of the following

statement (s) is/are correct about f(z) ?

A.[f(3)] = 3(].] denotes greatest integer function)

B.f(v7) =3
C. f(z) is even

D. £'(0) = 0

Answer: A::B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_4dmoBpzMY3qC
https://dl.doubtnut.com/l/_xpRsatgH0Yjm

29. The function f(z) = { 1—+/1-— le , (where [] denotes greatest

integer function):

A.has domain [ — 1, 1]
B. is discontinous at two points in its domain
C.is discontinousat z = 0

D.is discontinous atz = 1

Answer: A::B::D

° Watch Video Solution

30. A function f(x) satisfies the

relation

flz +y) = f(z) + f(y) + zy(z + y), Yz, y € R.Iff(0) =-1,then

A. f (x) is a polynomial funciton

B. f (x) is an exponetial function

C.f (x) is twice differentiable forallz € R


https://dl.doubtnut.com/l/_PRVLrk7RPLKk
https://dl.doubtnut.com/l/_1R9io7sLqBgW

D.f'(3) =8

Answer: A::C::D

° Watch Video Solution

. . L 6 3z |. 1w
31. The points of discontinuities of f(z) = — |cos| — 1n[€,7r]

is/are:(where [.] denotes greattest integer function)

>

O @
3wy oy

o
)

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_1R9io7sLqBgW
https://dl.doubtnut.com/l/_VAwfx04EImdY

= 0<z<1
32.1f f(z) = then,
2 3
2x° — 3x + 3 1<x <2

A. f(z), f'(x) are continous
B. f'(z) is continous, f’’(x) is not continous
C. f’’(«) is continous

D. f'’(z) is non differentiable

Answer: A::B::D

o Watch Video Solution

d’y .
33.Ifx = ¢(t),y = ¥(t), then — isequalto
dz?
A‘¢'¢"—12/1’¢”
(¢")
g OV VP
()’
Y Yol
C.— —
(@)
AR X

() (¢


https://dl.doubtnut.com/l/_2jDMiYSdMfuw
https://dl.doubtnut.com/l/_sjfIb3HhIYB7

Answer: B::D

° Watch Video Solution

0, zel
34. f(z) = [z] and g(x) = where [] dentoes the greatest

z?, &I

integer function. Then

A. gof is continous for all x
B. gof is not continous for all x
C.fog is continous everywhere

D. fog is not continous everywhere

Answer: A

° Watch Video Solution

35. Let f:R" — R defined as f(z) =e® +In x and g= f ! then

correct statement (s) is/are:


https://dl.doubtnut.com/l/_sjfIb3HhIYB7
https://dl.doubtnut.com/l/_SXdC8I8PVLcg
https://dl.doubtnut.com/l/_KHNO7NX4tE16

Answer: A::D

o Watch Video Solution

3z —2?

5 Tz <2
36. Let f(z) = | [z — 1] 2 < g < 3: then which of the

x? — 8¢ + 17 z >3

following hold(s) good ?

A lim f(z) =1
T—2
B. f() is differentiable at x = 2

C. f(x) is continous at z = 2

D. f(z) is discontinous at z = 3


https://dl.doubtnut.com/l/_KHNO7NX4tE16
https://dl.doubtnut.com/l/_Qy1JBAf67S7d

Answer: A::C::D

° Watch Video Solution

Exercise Comprehension Type Problems

Llet f(z) = lim n? ta,n(ln(sec%)) and g(z) = min (f(z), {z}}

n— oo

(where {} denotes fractional part function)
Left derivative of ¢(z) = eV (2) gtz = 0is:
A.O
B.1
Cc.—-1

D. Does not exist

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Qy1JBAf67S7d
https://dl.doubtnut.com/l/_FBwGJMu9OdaS
https://dl.doubtnut.com/l/_yurFUNoHm7NL

2. Let f(z) = lim n? tan(ln(secz)) and g(z) = min (f(x), {z}}

n— oo n

(where {} denotes fractional part function)

Number of points in z € [ — 1, 2] at which g (x) is discontinous :
A.2
B.1
Cc.0

D.3

Answer: A

o Watch Video Solution

3.Let f(z) and g(x) be two differentiable functions, defined as:

f(z) = 2* +2g'(1) +¢''(2) and g(z) = f(1)2* +zf (z) + "' ().

The value of f(1) + g( — 1) is:

A.O0


https://dl.doubtnut.com/l/_yurFUNoHm7NL
https://dl.doubtnut.com/l/_hsHZ8vZ5Uoot

B.1

C.2

D.3

Answer: D

o Watch Video Solution

4.let f(x) and g(x) be two differentiable functions, defined as:
f(2)* = 2® + 2g’(1) + g'"(2) and g(z) = f(1)z’ +zf’(2) + "' (2).

The number of integers in the domain of the function

Fa) =, - T% ¢ a7

~ g()
A0
B.1
C.2

D. Infinite


https://dl.doubtnut.com/l/_hsHZ8vZ5Uoot
https://dl.doubtnut.com/l/_FBvrpp8Q2zEF

Answer: C

° Watch Video Solution

5.Define: f(z) = |zz — 4z + 3'1nw +2z -2 z>0

xz — 1, xeQ
h(m):{xQ—x—Z z 2 Q

f(z) is non-differentiable at..... points and the sum of corresponding x
value (s) is ...

A 3,6

B.2,3

C.2,4

D.2, 5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_FBvrpp8Q2zEF
https://dl.doubtnut.com/l/_B24XQmzfqTcB

6. Define: f(x) = |ac2 — 4z +3‘1nm +2(x — 2)1/3,91: >0
xz — 1, x e

h(z) =4 ,

P -z -2, z&Q

h (x) is discontinousatz = ......

Al+ 42

B.t T
.tan —
8

C 1:an7—7r
' 8

D.v2-1

Answer: D

o Watch Video Solution

7. Consider a function defined in [ — 2, 2]
{z} —20<z< -1

f(z) =< |sgnz|] —-1<z<1 , where {} denotes the fractional
{—z} 1<z<2

part function.

The total number of points of discontinuity of f(z) forz € [ — 2, 2] is:


https://dl.doubtnut.com/l/_spqhiVXHKOqK
https://dl.doubtnut.com/l/_5n7CAXLdIBhr

A0

B.1

C.2

D.4

Answer: B

o Watch Video Solution

8. Consider a function defined in [ — 2, 2]
{z} —-2<z< —1

f(z) =< |sgnz|] —1<z<1
{—z} 1<z<2

, Where {} denotes the fractional

part function.
The number of points for z € | — 2, 2] where f(x) is non-differentiable
is:

A.O

B.1


https://dl.doubtnut.com/l/_5n7CAXLdIBhr
https://dl.doubtnut.com/l/_g0VUVgbkwVxB

C.2

D.3

Answer: D

° Watch Video Solution

9. Consider a function f(z) in [0, 27| defined as :

[sinz] + [cos z] 0<z<m

f(z) =

[sinz| — [cos ] m<x<2r

where {.} denotes greatest integer function then.
Number of points where f(x) is non-derivable :
A 2
B.3
C.4

D.5

Answer: B

[ o


https://dl.doubtnut.com/l/_g0VUVgbkwVxB
https://dl.doubtnut.com/l/_pTav1uPxyJ7H

l & Watch Video Solution

10. Consider a function f(z) in [0, 27] defined as :
[sinz] + [cos z] 0<z<m
s

where {} denotes greatest integer function then.

f(z) =

inz] — [cos z] T<x<2m

lim , f(z) equals

(%)

A.O0

B.1

D.2

Answer: C

° Watch Video Solution

where [x]= greatest integer less

T T <
11.Letf(90):{($_1) 2<z<3

than or equal to x, then:


https://dl.doubtnut.com/l/_pTav1uPxyJ7H
https://dl.doubtnut.com/l/_6OaDicP2aErh
https://dl.doubtnut.com/l/_0X5HEGwb5ZTj

The number of values of x for x € [0, 3] where f(x) is dicontnous is:

A.O0

B.1

C.2

D.3

Answer: C

o Watch Video Solution

z[z] 0<

( 1) 2; <3 where [x]= greatest integer less
x — <z <

12. Let f(z) = {
than or equal to x, then:
The number of values of x for z € [0, 3] where f(z) is non-differentiable
is :

A.O

B.1


https://dl.doubtnut.com/l/_0X5HEGwb5ZTj
https://dl.doubtnut.com/l/_fF1yMsHNqDug

C.2

D.3

Answer: D

° Watch Video Solution

z[z] 0<z<2

( ) 2<z<3 where [x]= greatest integer less
x — <z <

13. Let f(z) = {
than or equal to x, then:
The number of integers in the range of y = f(x) is:
A3
B.4

C.5

D.6

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fF1yMsHNqDug
https://dl.doubtnut.com/l/_8lE0JrqgbfVk

14. Let f: R — R be a continous and differentiable function such that
flz+y) = f(z). F(y) Ve, y, f(z) # 0 and f(0) = 1 and f'(0) = 2.
Let f(zy) = g(z). G(y) Vz,y and g'(1) = 2.g(1) # =0

Identify the correct option:

D. £(3) > 729

Answer: A

o Watch Video Solution

15. Let f: R — R be a continous and differentiable function such that

f(z +) = f(z). F(y) Ve, y, f(z) # 0 and (0) = 1 and £'(0) = 2.


https://dl.doubtnut.com/l/_8lE0JrqgbfVk
https://dl.doubtnut.com/l/_zhf15KEgDesD
https://dl.doubtnut.com/l/_CNM4fMWuLumZ

Let f(zy) = g(z). G(y) Vz,y and g'(1) = 2.9(1) # =0

Identify the correct option:

Ag(2) =2
B.g(3) =3
C.g(3) =9
D.g(3) =6
Answer: C

o Watch Video Solution

16. Let f: R — R be a continous and differentiable function such that
f(@ +y) = f(). F(y) Va,y, f(z) # 0 and £(0) = 1 and £'(0) = 2.
Let f(zy) = g(z). G(y) Vz,y and g'(1) = 2.g(1) # =0

The number of values of x, where f(z)g(x):

A.O

B.1


https://dl.doubtnut.com/l/_CNM4fMWuLumZ
https://dl.doubtnut.com/l/_wYWeAzA8A68S

C.2

D.3

Answer: B

° Watch Video Solution

cos?

17. f(z) = |+ cosz £ oo and g(z) = ktanz + (1 — k)sinz — =z,

wherek € R, g’ (z) =

N (1 —cosz)(f(z) — A)

NUEETTORF ()
(1 —cosz)(A— f(x))
- f(@)
. (1 —cosz)(A — f(z))
(f(=))’

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wYWeAzA8A68S
https://dl.doubtnut.com/l/_K1yhLnwmMizk
https://dl.doubtnut.com/l/_225kLrNAXf5F

COS2 T

18. Let f(z) and g(xz)Atanz + 1(1 — A)sinz — =z,

1+ cos + cos? x

where A € R and z € [0, 7/2)].
The exhaustive seet of values of A’ such that g'(z) > 0 for any
zel0,7/2):
A.[1, 00)
B. [0, 00)
c 1
. E,OO
5 1
|30

Answer: D

o View Text Solution

19.
22 + 2(z + 1) 1
f(z) = lim 5 ( - ) ,m € N and g(z) = tan(—sin_l(-
T (p4 1) a2 41
then

The number of points where g(z) is non-differentiable Vz € Ris:


https://dl.doubtnut.com/l/_225kLrNAXf5F
https://dl.doubtnut.com/l/_MDCAjgEZoGoZ

Al

B.2

C.3

D.4

Answer: D

o View Text Solution

20.
2? + 2(z + 1)*" 1
f(z) = lim ( ) ,m € N and g(z) = tan(—sinl(—_
T — 00 (513+1)2n+1+332—|—1 2 1
then
(ar:2 + 4z —|—3)
lim

is equal to:
z— -3 sin(x + 3)g(z) a

Al
B.2

C.4


https://dl.doubtnut.com/l/_MDCAjgEZoGoZ
https://dl.doubtnut.com/l/_L3ZZZObm9oFO

D. Non-existent

Answer: B

o View Text Solution

21.
2? + 2(z + 1)*" 1
f(z) = lim 5 (1 ) ,nm € N and g(z) = tan(—sin_l(—_
T (4 1) a2 41 2 .
then

lim { f(z) }—I—
z—0- | tna?z

{} denotes fraction part function)

lim f(z)
T—2

+ lim (5f(x)) is equal to (where
z—27

A7
B.8
C.12

D. Non-existent

Answer: A

| e |


https://dl.doubtnut.com/l/_L3ZZZObm9oFO
https://dl.doubtnut.com/l/_alah2MtFhmba

I & View Text Solution

22. Let f and g be two differentiable functins such that:

f(z) = g'(Vsinz + (¢""(2) — D=

-5 (e (-3)

The number of solution (s) of the equation f(z) = g(z) is/are:
A1l
B.2

C.3

D. infinite

Answer: B

o Watch Video Solution

23. Let f and g be two differentiable functins such that:

fz) = g'(Dsinz + (¢""(2) — D=


https://dl.doubtnut.com/l/_alah2MtFhmba
https://dl.doubtnut.com/l/_c64wwTWA9IAG
https://dl.doubtnut.com/l/_eW4oi8NkHqIq

G )

COS ZE

fx)—:c

h<2) = 1then

———dx = cosz + In(h(z)) + C where C is constant and

(%)

is:

A 32
B.2v/3
C.v/3

1
D. —

V3

Answer: B

o Watch Video Solution

24.Let f and g be two differentiable functins such that:
fz) = g'(Dsinz + (¢""(2) — 1)z

w2 s G 1)

If () = f*(x) then ¢’ ( + 1) equals to:

T
A

—+1
2+



https://dl.doubtnut.com/l/_eW4oi8NkHqIq
https://dl.doubtnut.com/l/_V4tO56sh50c9

D.O

Answer: C

o Watch Video Solution

25. Suppose a function f(x) satisfies the following conditions

@) + 1)
M@y = )

Also —1< f(z) <1, Vz € R

"Vz,y € R and f'(0) =1

f(x) increases in the complete interval :

A(—o0, —1)U(—-1,00U(0,1) U (1, 00)
B.( — 00, )
C.(—o0,)U(—1,0)

D. (0, 1) U (1, 00)


https://dl.doubtnut.com/l/_V4tO56sh50c9
https://dl.doubtnut.com/l/_1n7GfDpwPq7V

Answer: B

° Watch Video Solution

26. Suppose a function f(x) satisfies the following conditions

flz +y) = fl@) + 1) 'Vz,y € R and f'(0) =1

f+ f(@)f(y)
Also —1 < f(z) <1,Vz € R

The value of the limit It; - o (f())” is:

A.O

B.1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1n7GfDpwPq7V
https://dl.doubtnut.com/l/_gtNtce3UIiVe

' f(x)

27.Let f(x) be a polynomial satisfying lim =3
f() be a poly fring lim = ———
. flz) —2* -1
The value of lim equals to:
r— —6 3(:13 + 6)
A— |6
B.|6
6
C. ?
—6
D. —
2
Answer: D
o View Text Solution
g f(x)
28.Let f(x) be a polynomial satisfying lim =3

T — 00 z8_|_]_

f(2) =5, f(3) =10, f(—1) =2, f( - 6) = 37

The number of points of discontinuity of discontinuity of

1 . [—15 5
flz) = 1 7@ ml 5 5} equals:


https://dl.doubtnut.com/l/_QXzAgif5fzqU
https://dl.doubtnut.com/l/_X3lC2TQZN8Gm

A 4

B.3

C.1

D.O

Answer: B

o View Text Solution

29. Consider f(z) = ™%, and g(z) = e’z. Let a and S be two values

of x satisfying f(z) = g(z)(a < B)
lim f(z) — cB
z=p g(x) — B

= [ then the value of x -l equals to:
A4 — e
B.e % (2) — 4

C4—e

D.e — 4


https://dl.doubtnut.com/l/_X3lC2TQZN8Gm
https://dl.doubtnut.com/l/_9SMLirltKzWS

Answer: B

° Watch Video Solution

30. Consider f(z) = z™°, and g(z) = e’z. Let o and S be two values

of x satisfying f(z) = g(z)(a < B)
f(=z)

If h(z) = o)

then h’(a) equals to:

C.3e

D. —3e

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9SMLirltKzWS
https://dl.doubtnut.com/l/_QZp3OkfC3Nzz

n n

+
31. Let fox + fu(y) = %Vm,y € R —{0}. where n € N and

o(e) = max { fu(e). foa), 5 | v € R - )

o0 o0
The number of value of Z for(cos ecl) + Z for(sech), wheretheta
k=1 k=1
ne (kpi)/(2), kin lis: "
A1
B.2
C.\/2
D.4
Answer: B
o View Text Solution
32. Let fo,xz + f,(y) = mn—yan, y € R —{0}. where n € N and

o(@) = max { (o), f(e), 3 | v € R (0}


https://dl.doubtnut.com/l/_ukSRK7ix3AYs
https://dl.doubtnut.com/l/_P06tszXhXpma

The number of values of x for which g(x) is non-differentiable
(z € R—{0}):

A.3

B.4

C.5

D.1

Answer: A

° Watch Video Solution

Exercise Mathcing Type Problems

flz) =az(z—1)+b z <1
1. The function =z — 1 1<z<3
=px? +qr+2 z >3

if (i) f (x) is continous for all x

(ii) f'(1) does not exist


https://dl.doubtnut.com/l/_P06tszXhXpma
https://dl.doubtnut.com/l/_8WSFL3xyg8N9

(i) f'(x) is continous at z = 3, then

b has value
p has value (R)
q has value (S)

(€)
(D)

° Watch Video Solution

Exercise Subjective Type Problems

ac(zx —1) +b z <1
1 Let f(z) =< = +2 1<z <3 is continous Vz € R
pr? + gr + 2 >3

except =1 but |f(x)| is differentiable everywhere and f'(x) is

continousat z = 3 and |a + p + ¢| = k, then k=

° Watch Video Solution

d? d
2.Ify = sin(SSilf1 m) then (1 — m2)—y — g;_y = — ky, wherek=
dz? dz

o Watch Video Solution



https://dl.doubtnut.com/l/_8WSFL3xyg8N9
https://dl.doubtnut.com/l/_T0jciR3VvFZW
https://dl.doubtnut.com/l/_kuNgvQhvaPXS

d? ka?
3.1fy* = 4az, then 2y _ L, wherek? =
dz? y?

° Watch Video Solution

4. The number of values of z, zI[ — 2, 3] where f(z) = [z°]sin(nz) is

discontinous is (where [.] denotes greatest integer function)

° Watch Video Solution

5. If f (x) is continous and fifferentiable in
[—3,9] and f'(z) € [—2,8]Vz € (—3,9). Let N be the number of
divisors of the greatest possible vaue of f(9) — f( — 3), then the sum of

digits of N.

o Watch Video Solution



https://dl.doubtnut.com/l/_4rdUTUz6oZfj
https://dl.doubtnut.com/l/_WSxlViQe7xf9
https://dl.doubtnut.com/l/_6sAtox4BJQKr

6. In f(z) = [(cos:c3, , T < 0), (sinm3 — ’:1:3 -1

y T > 0) then find

the number of points where g(z) = f(|z|) is non-differentiable.

° Watch Video Solution

7. Let f(z) = 2% +azx + 3 and g(z) = = + b, where
f(z) + (2*)9(z)

F(z) = lim . If F (x) is  continous
z — 00 1+ (w2)n

atr =1 and x = — 1then find the value of (a2 + b2)

° Watch Video Solution

22—z, -3<x<0

Then f*1 (x) is discontinous at x=
r—2 0<zx<4

&mﬂ@:{

° Watch Video Solution

9.If f(z) +2f(1—z)( =2>+2Vz € R and f(z) is a differentiable

function, then the vlaue of f’(8) is



https://dl.doubtnut.com/l/_fu4ZxZ5cX1IO
https://dl.doubtnut.com/l/_uoe9ifgs2Mt2
https://dl.doubtnut.com/l/_4oKhnrgZKkeV
https://dl.doubtnut.com/l/_ltJxOmzxfxZQ

° Watch Video Solution

10. Let f(z) = signum (x) and g(z) = z(z® — 10z + 21), then the

number of points of discontinuity of f[g(z)] is

° Watch Video Solution

d2 4 2

MmIf sin"z + sin"z + 1 = asin’z + bsinz + c then the value
dz? \ sin’z + sinz + 1

ofb+c—ais

° Watch Video Solution

1 3/2 2
122 f(z) = acos(my) + b, f'| = | =7 and flz)dz = = 41,
2 1/2 T
12 [/ sin !
then find the value of — — <sm3 a4 + cos ! b).

° Watch Video Solution



https://dl.doubtnut.com/l/_ltJxOmzxfxZQ
https://dl.doubtnut.com/l/_HjjpON3EAMfX
https://dl.doubtnut.com/l/_M6TzFjDeDiEe
https://dl.doubtnut.com/l/_UsY0kOxOFUaC
https://dl.doubtnut.com/l/_rdhIELbnOAtS

13. Let

a(z) = f(x) — f(20) and B(z) = f(z) — f(4a) and a’(1) = 5a’(2) =

then 2nd the vlaue of 8'(1) — 10

° Watch Video Solution

L 3 2
4. Let f(z)= —4.e2 + % + % +x+1and g be inverse
. a+bxd/?2 a?
function of fand h(x) = 5 h’(5) =0, then ——— =

5b2g’<%7)

o Watch Video Solution

. 2 — 1)y +zy’
15.1fy = >0 'Z then ( )z Y is equal to
o Watch Video Solution
2 3 4 5
16.Let f(x) = = + % + % + % + % and let g(z) = f~'(x). Find



https://dl.doubtnut.com/l/_rdhIELbnOAtS
https://dl.doubtnut.com/l/_XVUxvoXmLUFv
https://dl.doubtnut.com/l/_Fae9Dk15QvXy
https://dl.doubtnut.com/l/_kROK2PIRcfYY

| ° Watch Video Solution J

17. In f(z) = [(cos 2, x < 0), (sin:c3 — ‘:c3 — 1’, , T > 0) then find

the number of points where g(z) = f(|z|) is non-differentiable.

° Watch Video Solution

18.Let f: R — R be a differentiable function satisfying:

x
flzy) = #Vm,y € R also f(1) =0, f'(1) = 1
find lim [ ] (where [.] denotes greatest integer function).
r—e €T

° View Text Solution

2

19. For the curve sinx + siny = 1 lying in first quadrant. If lim z%—

exists and non-zero than 2a =

o Watch Video Solution



https://dl.doubtnut.com/l/_kROK2PIRcfYY
https://dl.doubtnut.com/l/_3cYIrSGVdFLB
https://dl.doubtnut.com/l/_f9ngtySHUxQl
https://dl.doubtnut.com/l/_TjCXMTuqmlj5
https://dl.doubtnut.com/l/_KwTg1zfEXicW

20. Let f(z) = wtan~!(2?) + z* Let fF(z) denotes k™ derivative of
f(z)wrt.z, k € N.If

2™ (0) =0, min N, then m =

° Watch Video Solution

d> dy \*
21.If z = cos @ and y = sin® 6, then Y y—i— il atezzis:
dx? dz 2
° Watch Video Solution
22, The value of z,z € (2,00) where

flz) = \/m\/rz —16 + \/a: — /8 — 16 s not differentiable is:

° Watch Video Solution

23. The number of non differentiability of point of function

f(z) = min ([a:], {z}, |z — ;D for x € (0,2), where [] and {}



https://dl.doubtnut.com/l/_KwTg1zfEXicW
https://dl.doubtnut.com/l/_8l4S81uvum67
https://dl.doubtnut.com/l/_Sxa9SarPKVCU
https://dl.doubtnut.com/l/_mMevbkJulGZB

denote greatest integer function and fractional part function

respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_mMevbkJulGZB

